

Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180185

 Date
 07/11/2024

Project General Engineering-2024

Task 1: On Call

Professional Fees

				Billed
		Hours	Rate	Amount
Christopher Ross				
Analyst 2		0.25	133.00	33.25
Della N. Young				
Principal		15.25	169.00	2,577.25
Erica E. Bock				
Scientist 1		0.50	80.00	40.00
Hannah R. LeClaire				
PM - Engineer		2.00	129.00	258.00
Jennifer Mocol-Johnson				
Program/Sr. Project Manager		12.00	170.00	2,040.00
Jess Norby				
Scientist 2		3.00	115.00	345.00
Susan A. Lindberg				
Comm Manager		3.00	136.00	408.00
	Phase subtotal			5,701.50
Task 3: Project Reviews				

	Hours	Rate	Billed Amount
Christopher Ross			
Analyst 2	7.50	133.00	997.50
Derek B. Beauduy			
Sr. Scientist - Mgr	8.50	164.00	1,394.00
Erica E. Bock			
Scientist 1	28.25	80.00	2,260.00
Hannah R. LeClaire			
PM - Engineer	29.50	129.00	3,805.50



Project General Engineering-2024 Date	07/11/2024
Project General Engineering-2024 Date	07/11/2024

Task 3: Project Reviews

Professional Fees

	Hours	Rate	Billed Amount
Jess Norby			
Scientist 2	4.25	115.00	488.75
Rachel Kapsch			
Scientist 1	46.25	77.00	3,561.25
Reimbursables			
			Billed
	Units	Rate	Amount
Document Review/Proofreading	1.00	0.0001	0.00
Phase subtotal			12,507.00
Task 6: Municipal Coordination			
Professional Fees			
			Billed
	Hours	Rate	Amount
Erica E. Bock			
Scientist 1	6.00	80.00	480.00
Hannah R. LeClaire			
PM - Engineer	2.50	129.00	322.50
Rachel Kapsch			
Scientist 1	6.00	77.00	462.00
Phase subtotal			1,264.50
Task 7: Project Inspections			
Professional Fees			
			Billed
-	Hours	Rate	Amount
Erica E. Bock	0.05	00.00	000.00
Scientist 1	3.25	80.00	260.00
Hannah R. LeClaire			
PM - Engineer	3.50	129.00	451.50
Rachel Kapsch			
Scientist 1	8.00	77.00	616.00
Phase subtotal			1,327.50
	Ir	nvoice total	20,800.50

=



Lower Minnesota River Watershed District Project General Engineering-2024
 Invoice number
 180185

 Date
 07/11/2024

Approved by:

Della N. Young Founder/CEO

June 2024 LMRWD Individual Permit Project Review Summary

5/24/2024	Email	Permittee sent request for permit closure and provided inspection photos and figures
5/25/2024	Email	Permit closed
2024 MSP	Terminal	I Concourse G Infill Pods 2-3 Permit No. 2024-012
6/3/2024	Email	LMRWD thanked applicant for additional materials
6/11/2024	Email	Completeness email sent to permit applicant
6/24/2024	Email	Permit applicant asked clarifying question regarding a maintenance agreement
6/25/2024	Email	LMRWD provided clarification on maintenance agreement requirements
2024 T2 N	orth Expa	ansion Permit No. 2024-006
6/3/2024	Email	LMRWD requested brief meeting with applicant
6/3/2024	Email	Permit applicant responded to meeting request with lack of availability
6/4/2024	Meeting	Meeting held with permit applicant
6/5/2024	Email	LMRWD provided permit applicant with meeting follow up
6/5/2024	Email	Permit applicant thanked LMRWD for the follow up and provided additional information.
6/5/2024	Email	Applicant also asked about additional Rule B materials required LMRWD notified permit applicant that a Rule B technical memorandum was being drafted an that final confirmation of Board meeting placement would be sent at a later time
6/7/2024	Email	LMRWD asked question regarding if project had been awarded
6/10/2024	Email	LMRWD followed up on question regarding if project had been awarded
6/11/2024	Email	Permit applicant provided contact information for contractors awarded the project
6/11/2024	Email	LMRWD thanked permit applicant for additional information and informed applicant that the project would be brought to the Board for Rule B approval at the June meeting
6/21/2024	Email	LMRWD sent notification of conditional approval of Rule B permit
6/21/2024	Email	Permittee provided Rule B conditional approval item (signed construction plans)
6/24/2024	Email	Permit applicant provided additional Rule D information
6/27/2024	Email	LMRWD sent comments and questions regarding conditional approval item submitted

35W Early Release | Permit No. 2024-004

6/10/2024 Email

Email LMRWD provided reminder of conditional approval

Ace Rent A Car | Permit No. 2022-022

6/7/2024

Email

Ace Rent A Car | Permit No. 2022-022

Permittee provided with follow up reminder of items required for permit closure

Boiling Sp	orings Drai	nage Improvement Permit No. 2024-015
6/20/2024	Email	New permit application submitted
6/21/2024	Email	LMRWD thanked applicant for materials and notified them of review process
Building R	enovation	Park Jeep Permit No. 2021-030
6/26/2024	Email	Post-inspection email sent to permittee
6/26/2024	Email	Permittee asked clarifying questions regarding inspection findings and required remediation
6/27/2024	Email	LMRWD provided clarification on inspection findings and permit closure requirements
Burnsville	LGU Perr	mit Permit No. 2023-M-02
6/11/2024	Email	LMRWD provided City of Burnsville staff with inspection findings and asked for meeting availability
6/12/2024	Email	City of Burnsville notified LMRWD that their previous inspections had no record of the issue recorded during LMRWD inspections. City advised contacting owners for property
6/13/2024	Email	LMRWD thanked City of Burnsville for their response and followed up on the request for meeting availability
6/13/2024	Email	City of Burnsville Engineering Specialist provided meeting availability
6/13/2024	Email	LMRWD sent meeting invite to City of Burnsville
6/14/2024	Email	City of Burnsville Engineering Specialist rescinded meeting availability and conferred with colleagues on their availability
6/14/2024	Email	City of Burnsville provided updated meeting availability
6/14/2024	Email	LMRWD asked the City for confirmation of a specific meeting time
6/14/2024	Email	All City of Burnsville staff confirmed their availability for the selected meeting time
6/14/2024	Email	LMRWD notified the City that the meeting would be held virtually
6/14/2024	Email	LMRWD sent permittee a meeting invitation
6/26/2024	Meeting	Meeting held with LGU permittee
6/26/2024	Email	Meeting follow up sent to permittee
Burnsville	Sanitary I	Landfill Permit No. 2022-040
6/3/2024	Email	Permittee requested permit extension
6/3/2024	Email	LMRWD thanked permittee for status update and notified them that the request would be brought to the Board
(104 1000 -		

CD Terminal Storage Pad | Permit No. 2024-008

6/17/2024

6/21/2024

24 Email

Email

LMRWD informed permittee of permit renewal and sent renewed permit

CD Terminal Storage Pad | Permit No. 2024-008

LMRWD followed up with permit applicant

6/3/2024	Email	Permittee provided response to LMRWD inspection findings
6/7/2024	Email	LMRWD reiterated items required for permit closure
Concours	e G Infill F	Pods Permit No. 2023-012
6/19/2024	Email	Permittee provided photos of site stabilization efforts
6/20/2024	Email	LMRWD asked permittee if areas disturbed during Phase 1 of the project (2023-012) will be redisturbed during Phase 2 (2024-012)
6/20/2024	Email	Permittee provided additional site photos and information
6/20/2024	Email	LMRWD determined that project met close-out requirements and closed the project permit

Eagle Creek	Bridge S	lope Stabilization Permit No. 2023-002
6/3/2024	Email	LMRWD sent permit expiration reminder email
6/21/2024	Email	LMRWD informed permittee of permit renewal and sent renewed permit

Fort Snell	ling Redev	elopment Permit No. 2020-113
6/3/2024	Email	Permittee notified LMRWD that temporary BMPs had been removed and photos would be provided at a later date
6/3/2024	Email	LMRWD administrator provided LMRWD permitting team with street sweeping recommendation
6/4/2024	Email	LMRWD permitting team notified LMRWD administrator that a street sweeping request was made
6/4/2024	Email	LMRWD thanked permittee for providing updates and requested sediment removal
6/4/2024	Email	LMRWD administrator thanked LMRWD permitting team
6/10/2024	Email	Permittee provided site photos confirming the removal of temporary BMPs and that street sweeping performed
6/10/2024	Email	LMRWD permitting staff informed LMRWD administrator of intent to close the project permit
6/11/2024	Email	Permit closed
6/11/2024	Email	Permittee thanked LMRWD for permit closure

FWTEC P	Parking Lo	t Improvements Permit No. 2024-009
6/17/2024	Email	Permit applicant asked for confirmation of materials still required to complete permit application
6/17/2024	Email	LMRWD provided clarification on materials still required
6/18/2024	Email	Permit applicant provided additional information
6/19/2024	Email	

	8	Improvements Permit No. 2024-009 LMRWD thanked permit applicant for providing additional information and asked follow up
		questions on construction schedule
5/20/2024	Email	Permit applicant provided construction schedule
5/20/2024	Email	LMRWD asked permit applicant questions regarding sediment log placement denoted in site plans and contractor information
5/20/2024	Email	Permit applicant provided contractor information
/20/2024	Email	Permit applicant provided updated site drawings with additional sediment control logs
/21/2024	Email	LMRWD thanked permit applicant for submitting additional information
/27/2024	Email	LMRWD informed applicant that the project would be brought to the Board for conditional approval at the July meeting
General P	ermit Que	stion Permit No.
/3/2024	Email	LMRWD responded to question regarding permitting authority
6/4/2024	Email	Bolton & Menk, Inc. representative inquired on the necessity of a LMRWD permit
/11/2024	Email	Intern from the City of Savage asked question regarding wetland buffer requirements
/11/2024	Email	LMRWD provided the City of Savage with clarification on WCA authority and Rule D buffer for trout streams
/18/2024	Email	City of Burnsville followed up asking for comments on Conditional Use Permit
/18/2024	Email	LMRWD asked City of Burnsville to forward the permit application to different email addres and to send future permit applications to the address
/18/2024	Email	City of Burnsville forwarded permit application
6/18/2024	Email	LMRWD notified City of Burnsville that a LMRWD permit was not required for the project and that they had no further comments
/19/2024	Email	Bolton & Menk, Inc. representative followed up on inquiry regarding the necessity of a LMRWD permit
/19/2024	Email	LMRWD responded to Bolton & Menk, Inc. representative and informed them that the City Eagan would be the permitting authority for the project
/19/2024	Email	Bolton & Menk, Inc. representative thanked LMRWD
/21/2024	Email	Merjent representative inquired about floodplain permitting requirements
/21/2024	Email	Application for Planned Unit Development (PUD) Amendment in Burnsville forwarded to LMRWD for comments
/27/2024	Phone call	Phone call with Merjent representative
/27/2024	Email	Follow up with Merjent representative reiterating phone conversation regarding Rule C permi requirement for project
/27/2024	Email	Exterior Design Studio representative inquired about permitting requirements for upcoming residential project
/28/2024	Email	Merjent representative followed up regarding Rule C permitting requirement with additional project information
/28/2024	Email	LMRWD notified Exterior Design Studio representative that a LMRWD permit is not require for the project
	Bridge P	Permit No. 2023-010

/7/2024	Bridge P	Completeness email sent to permit applicant
/ / / 2024	Email	Competeness email sent to permit applicant
/11/2024	Email	Permit applicant provided additional information on approval from DNR and UPRR
/11/2024	Email	Permit applicant provided secure link to additional materials for download
/11/2024	Email	LMRWD asked permit applicant to forward project materials to different email address
/11/2024	Meeting	Permit applicant hosted TEP meeting
/12/2024	Email	Permit applicant forwarded project materials to different email address
/26/2024	Email	Permit applicant followed up on land use approval requirements
/27/2024	Phone call	Permit applicant left voicemail regarding land use approval requirements
/27/2024	Email	LMRWD notified permit applicant that land use approval requirements are satisfied in the interim with additional conditional approval items that will be required
vy Brook	Parking No	ortheast Permit No. 2022-027
/10/2024	Email	Permittee sent follow up email and requested permit closure
/14/2024	Email	Permittee sent additional follow up email
/14/2024	Email	LMRWD thanked permittee for following up and notified them of meeting with the City of Burnsville to determine additional action (if any) required by the permittee
/14/2024	Email	Permittee thanked LMRWD for the update and inquired about meeting discussion items
/17/2024	Email	LMRWD notified permittee that updates for the project site were not available
_ower Lyr	ndale Road	and Parking Lot Permit No. 2024-010
/21/2024	Email	LMRWD sent notification of conditional approval
TS MSP	Lateral 2	Permit No. 2024-014
/3/2024	Email	New permit application submitted
/6/2024	Email	LMRWD provided receipt of materials
/13/2024	Email	Completeness email sent to permit applicant
MAC LGU	J Permit	Permit No. 2024-M-02
/3/2024	Email	LMRWD provided receipt of application and materials
/21/2024	Email	Completeness email and comments sent to permit applicant
Merriam J	unction Tra	il Permit No. 2023-013
/10/2024	Email	LMRWD thanked permit applicant for additional information and asked a follow up questio regarding flood elevation
/10/2024	Email	Permit applicant provided additional information and directed LMRWD to answer for flood elevation question
		cievation question

		LMRWD asked follow up question regarding stream gauging
/10/2024	Email	Permit applicant provided additional information
/13/2024	Email	LMRWD informed applicant that the project would be brought to the Board for a vote at the June Board meeting
/21/2024	Email	LMRWD sent notification of conditional approval
1N Bluffs	Regional	Trail Permit No. 2023-017
/13/2024	Email	LMRWD provided reminder of conditional approval
/14/2024	Email	Permittee notified LMRWD that the project had not gone out to bid and that there are items from the City that they have not yet obtained
Opus Mar	sh Perm	nit No. 2024-011
/12/2024	Email	Hennepin County representative followed up on the progress of the after-the-fact wetland permit
/12/2024	Email	LMRWD clarified that no LMRWD permit is required for the project
/12/2024	Email	Hennepin County representative thanked LMRWD
	RF Relocat	tion Permit No. 2023-024
/10/2024	Email	Permit applicant provided details on site activities occurring before permit is issued
/12/2024	Email	LMRWD confirmed that site activities do not impact permitting and notified applicant that the project would be brought to the Board for a vote at the June meeting
/12/2024	Email	Permit applicant thanked LMRWD and informed LMRWD that they would be attending the June Board meeting
/17/2024	Email	Permit applicant provided additional information
/18/2024	Email	LMRWD notified permit applicant that materials submitted satisfy conditional approval items and provided a timeline for sending an approved project permit
/18/2024	Email	Permit applicant notified LMRWD of accelerated project timeline and attendance at upcomir Board meeting
/21/2024	Email	LMRWD sent approved project permit
/21/2024	Email	Permittee thanked LMRWD
Nhisperir	ng Waters	Permit No. 2021-016
/3/2024	Email	LMRWD sent permit expiration reminder email
/21/2024	Email	LMRWD informed permittee of permit renewal and sent renewed permit
Kcel Drive	eway Pe	rmit No. 2022-015



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180186

 Date
 07/11/2024

Project Area 3 Bluff Stabilization-2024

1.1 Plan Updates & Project Management

Professional Fees

	Hours	Data	Billed
	Hours	Rate	Amount
Hannah R. LeClaire			
PM - Engineer	1.25	125.00	156.25
2.2 Permit Apps & Regulatory Agency Coord			
Professional Fees			
			Billed
	Hours	Rate	Amount
Derek B. Beauduy			
Sr. Scientist - Mgr	1.25	164.00	205.00
Erica E. Bock			
Scientist 1	1.50	75.00	112.50
Hannah R. LeClaire			
PM - Engineer	1.25	125.00	156.25
Jess Norby			
Scientist 2	0.50	115.00	57.50
Phases	subtotal		531.25
	I	- nvoice total	687.50

Approved by:

Della N. Young Founder/CEO _



Lower Minnesota River Watershed District Project Area 3 Bluff Stabilization-2024
 Invoice number
 180186

 Date
 07/11/2024



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180188

 Date
 07/11/2024

Project Spring Creek Sites 1 & 2 Design & Construction Stabilization Project

Task 1-1 Project Management

Professional Fees

			Billed
	Hours	Rate	Amount
Hannah R. LeClaire			
PM - Engineer	0.25	125.00	31.25
Task 3-3 Permitting			
Professional Fees			
			Billed
	Hours	Rate	Amount
Hannah R. LeClaire			
PM - Engineer	2.50	125.00	312.50
Jess Norby			
Scientist 2	3.00	115.00	345.00
Phase subtota	al		657.50
Task 3-4 Design Review			
Professional Fees			
			Billed
	Hours	Rate	Amount
Hannah R. LeClaire			
PM - Engineer	3.50	125.00	437.50
	l	nvoice total	1,126.25

Approved by:

Della N. Young Founder/CEO



Lower Minnesota River Watershed District	Invoice number	180188
Project Spring Creek Sites 1 & 2 Design & Construction Stabilization Project	Date	07/11/2024



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180187

 Date
 07/11/2024

Project MN River Floodplain Modeling

Task 1-1 Project Plan Development and Project Management

Professional Fees

	Hours	Rate	Billed Amount
Hannah R. LeClaire			
PM - Engineer	0.50	125.00	62.50
Jennifer Mocol-Johnson			
Program/Sr. Project Manager	0.50	170.00	85.00
Phase subtotal			147.50
Task 2-2 Gather Development Information			
Professional Fees			
		_	Billed
	Hours	Rate	Amount
Christopher Ross			
Analyst 2	0.50	125.00	62.50
Hannah R. LeClaire			
PM - Engineer	1.00	125.00	125.00
Jess Norby			
Scientist 2	6.00	115.00	690.00
Phase subtotal			877.50
Task 4-1 Update Hydraulic Model Geometry			
Professional Fees			
_	Hours	Rate	Billed Amount
Hannah R. LeClaire			
PM - Engineer	1.00	125.00	125.00
	In	voice total	1,150.00



Lower Minnesota River Watershed District			
Project	MN River Floodplain Modeling		

 Invoice number
 180187

 Date
 07/11/2024

Approved by:

Della N. Young Founder/CEO



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180189

 Date
 07/11/2024

Project Education and Outreach

1.1 Project Plan Development and Project Mgmt

Professional Fees

				Billed
		Hours	Rate	Amount
Jennifer Mocol-Johnson	_			
Program/Sr. Project Manager		0.75	170.00	127.50
Jess Norby				
Scientist 2		3.50	115.00	402.50
Susan A. Lindberg				
Comm Manager		1.00	136.00	136.00
	Phase subtotal			666.00

2.1 Maintain & Retain CAC Members

Professional Fees

				Billed
		Hours	Rate	Amount
Christopher Ross				
Analyst 2		0.50	133.00	66.50
Della N. Young				
Principal		0.50	169.00	84.50
Jess Norby				
Scientist 2		13.25	115.00	1,523.75
Rachel Kapsch				
Scientist 1		1.00	77.00	77.00
Susan A. Lindberg				
Comm Manager		11.50	136.00	1,564.00
	Phase subtotal			3,315.75

2.2 Plan & Facilitate CAC Meetings

Professional Fees			
			Billed
	Hours	Rate	Amount
Jess Norby			
Scientist 2	4.50	115.00	517.50

_... .



wer Minnesota River Watershed District		Invoice number		180189	
Project Education and Outreach		Date		07/11/2024	
2.2 Plan & Facilitate CAC Meetings					
Professional Fees					
				Billed	
		Hours	Rate	Amount	
Rachel Kapsch					
Scientist 1		1.50	77.00	115.50	
	Phase subtotal			633.00	
2.3 Monitor & Assist the CAC					
Professional Fees					
				Billed	
		Hours	Rate	Amount	
Jess Norby					
Scientist 2		2.50	115.00	287.50	
2.4 Develop CAC Materials					
Professional Fees					
				Billed	
		Hours	Rate	Amount	
Jess Norby					
Scientist 2		13.25	115.00	1,523.75	
3.1 Maintain Social Media Sites					
Professional Fees					
		Llaura	Data	Billed	
laan Nashu		Hours	Rate	Amount	
Jess Norby		4 50	445.00	470 50	
Scientist 2		1.50	115.00	172.50	
Rachel Kapsch		0.05			
Scientist 1		2.25	77.00	173.25	
3.2 Enhance Social Media Messaging	Phase subtotal			345.75	

3.2 Enhance Social Media Messaging

Professional Fees

		Hours	Rate	Billed Amount
Jess Norby				
Scientist 2		0.25	115.00	28.75
Rachel Kapsch				
Scientist 1		2.25	77.00	173.25
Susan A. Lindberg				
Comm Manager		0.50	136.00	68.00
	Phase subtotal			270.00

3.3 Grow Social Media Following

Professional Fees			
			Billed
	Hours	Rate	Amount
Jess Norby			
Scientist 2	3.00	115.00	345.00



Lower Minnesota River Watershed District Project Education and Outreach	Invoice number Date	180189 07/11/2024
4.2 Resource ID & Protection Signs		

Professional Fees

		Hours	Rate	Billed Amount
Jess Norby				
Scientist 2		2.00	115.00	230.00
6.1 Partnership				
Professional Fees				
		Hours	Rate	Billed Amount
Jess Norby				
Scientist 2		0.50	115.00	57.50
Rachel Kapsch				
Scientist 1		2.25	77.00	173.25
	Phase subtotal			230.75
6.2 Local Events				
Professional Fees				
		Hours	Rate	Billed Amount
Jess Norby				
Scientist 2		8.25	115.00	948.75
6.3 Tabling Materials				
Professional Fees				
		Hours	Rate	Billed Amount
Jess Norby				
Scientist 2		1.75	115.00	201.25
		Inv	voice total	8,997.50

Approved by:

Della N. Young Founder/CEO



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180190

 Date
 07/11/2024

Project Gully Feasibility Study

1.1 Plan Development & Project Management

Professional Fees

		Hours	Rate	Billed Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		1.50	164.00	246.00
3.1 Desktop Analysis				
Professional Fees				
				Billed
	_	Hours	Rate	Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		1.75	164.00	287.00
Erica E. Bock				
Scientist 1		1.00	80.00	80.00
	Phase subtotal			367.00
3.4 Hydrologic & Hydraulic Modeling				
Professional Fees				
				Billed
		Hours	Rate	Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		1.00	164.00	164.00
Erica E. Bock				
Scientist 1		4.00	80.00	320.00
	Phase subtotal			484.00
3.6 Draft Feasibility Study				
Professional Fees				
				Billed
		Hours	Rate	Amount
Erica E. Bock				

Scientist 1

140.00

80.00

1.75



Lower Minnesota River Watershed District Project Gully Feasibility Study	Invoice number Date	180190 07/11/2024
4.2 LiDAR & Digital Elevation Model [DEM] Assessment Professional Fees		

		Hours	Rate	Billed Amount
Christopher Ross				
Analyst 2		0.50	133.00	66.50
Derek B. Beauduy				
Sr. Scientist - Mgr		1.50	164.00	246.00
	Phase subtotal			312.50
		In	voice total	1,549.50

Approved by:

Della N. Young Founder/CEO

Professional services through 06/30/2024



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis
 Invoice number
 180191

 Date
 07/11/2024

Project Fen Stewardship Program-2024

Task 1.1 Plan Development & Project Mgmt

Professional Fees

		Houro	Data	Billed
Della N. Young	—	Hours	Rate	Amount
Principal		0.25	169.00	42.25
Derek B. Beauduy		0.20	100100	12.20
Sr. Scientist - Mgr		4.50	164.00	738.00
	Phase subtotal			780.25
Task 1.3 MnDNR Coordination				100.20
Professional Fees				
				Billed
		Hours	Rate	Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		6.00	164.00	984.00
Lan H. Tornes				
Scientist 2		3.50	90.00	315.00
	Phase subtotal			1,299.00
Task 2.1 Recharge Area Mapping				
Professional Fees				
				Billed
		Hours	Rate	Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		1.00	164.00	164.00
Jim Berg				
Scientist 2		37.50	140.00	5,250.00
	Phase subtotal			5,414.00
Task 3.1 Implementation of Stewardship Strategi	es			
Professional Fees				
		Houro	Data	Billed
Derek B. Beauduw		Hours	Rate	Amount
Derek B. Beauduy		11 50	164.00	1 996 00
Sr. Scientist - Mgr		11.50	164.00	1,886.00
Lower Minnesota River Watershed District	Invoice number 180191		Invoice d	ate 07/11/2024



Task 3.1 Implementation of Stewardshin Strategies		
Project Fen Stewardship Program-2024	Date	07/11/2024
Lower Minnesota River Watershed District	Invoice number	180191

ask 3.1 Implementation of Stewardship Strategies

Professional Fees

		Hours	Rate	Billed Amount
Jennifer Mocol-Johnson				
Program/Sr. Project Manager		9.00	170.00	1,530.00
Jess Norby				
Scientist 2		9.00	115.00	1,035.00
Lan H. Tornes				
Scientist 2		5.50	90.00	495.00
	Phase subtotal			4,946.00
		In		42,420,25
		In	voice total	12,439

Approved by:

Della N. Young Founder/CEO



Lower Minnesota River Watershed District 112 East 5th Street Suite 102 Chaska, MN 55318 Linda Loomis

Invoice number 180192 Date 07/12/2024

Project Trout Stream Geomorphic Assessment

1.1 Plan Development & Project Mgmt

Professional Fees

Lower Minnesota River Watershed District	Invoice number 180192		Invoice d	ate 07/12/2024
Analyst 2		8.50	133.00	1,130.50
Christopher Ross				
Intern		80.00	68.00	5,440.00
Ashley Weihs	—			
		Hours	Rate	Billed Amount
Professional Fees				
4.5 Fieldwork and Assessments				
Analyst 2		1.00	133.00	133.00
Christopher Ross				
	_	Hours	Rate	Amount
				Billed
Professional Fees				
2.2 Survey Method Development				1,200.41
	Phase subtotal			1,230.41
	Subtotal	1.00	99.10	1,230.41
		1.00	45.00 99.16	45.00 99.16
		1.00 1.00	625.00 45.00	625.00 45.00
Office Expense		1.00	461.25	461.25
	_	Units	Rate	Amount
				Billed
Reimbursables				
2.1 Database Development & Organization				
	Phase subtotal			454.00
Program/Sr. Project Manager		0.50	170.00	85.00
Jennifer Mocol-Johnson				
Sr. Scientist - Mgr		2.25	164.00	369.00
Derek B. Beauduy	—			
		Hours	Rate	Amount
				Bille



Lower Minnesota River Watershed District	Invoice number	180192
Project Trout Stream Geomorphic Assessment	Date	07/12/2024

4.5 Fieldwork and Assessments

Professional Fees

		Hours	Rate	Billed Amount
Derek B. Beauduy				
Sr. Scientist - Mgr		23.75	164.00	3,895.00
Hannah R. LeClaire				
PM - Engineer		9.00	129.00	1,161.00
Josephine Khan				
Intern		109.50	68.00	7,446.00
Reimbursables				
		Units	Rate	Billed Amount
Subscriptions				493.79
	Phase subtotal			19,566.29
5.2 Trout Stream Geomorphic Assessment Report Development Professional Fees				
		Hours	Rate	Billed Amount

Ashley Weihs				
Intern		40.00	68.00	2,720.00
Derek B. Beauduy				
Sr. Scientist - Mgr		1.50	164.00	246.00
Josephine Khan				
Intern		37.50	68.00	2,550.00
	Phase subtotal			5,516.00
		Inv	voice total	26,899.70

Approved by:

Della N. Young Founder/CEO

Professional services through 06/30/2024